Probability

Time allowed: 45 minutes
Part A: 20 multiple-choice questions (40 marks)

Part B: 8 free-response guestions {60 marks)

Part A 7 What is the probability that a person chosen at
20 multiple-choice questions random has a birthday in a month beginning

2 marks each: 40 marks with M?

Circle the correct answer. A 1 B

12
Which term best describes the chance of 1 1
rolling an even number on a die? C 6 b 4
A likely B impossible
C unlikely D evenchance

8 A meeting room contains 1 man, 5 women,
4 boys and 3 girls. What is the probability that
How many different outcomes are there when a person chosen at random is a child?
tossing a coin? A § B L
Al B 4 13

C2 D6 ct pl

13 7
If the probability that it will snow tomorrow is

15%, what is the probability that it will not 9 If two coins are tossed, what is the probability
snow? that both show heads?

A 0% B 85% AL B

C 30% D 45% ?

On this spinner, what is the probability of C 3 D

spinning a 27

A 333%

B 25%

C 374%

D 662% 11 Which one of the following could net be the
3 probability of an event?

On the above Al B -1

spinner, what is the probability of spinning a C 0 D 0.001

number less than 57

10 What is the probability of rolling 4 on a die?
A 04 B 06

C 0.25 D 0.16

12 The set of all possible outcomes of a situation
A B is called the:

A experiment B likelihood
C D
C sample space D complementary

. event
A term that can be used to describe an event

with a probability of 0.75 is: 13 A whole number is chosen at random from 1
A impossible to 9. What is the probability that it is an odd
B ]ikely number?

C certain B
D uniikely
D

D o P




Topic test 10: Probability continued

14 What is the probability that the number
chosen in Question 13 above is a multiple
of 37

4 2
- B =
9 9
1 2
C = D -
3 3

Questions 15 to 17 refer to the following
frequency table that shows the number of heads
and tails that came up when a coin was tossed
repeatedly.

Outcome | Frequency
Heads 72
Tails 28

15 How many times was the coin tossed?

A 100 B2
C 50 D 72
16 What was the relative frequency of tails?
A 0.5 B 0.28
C 0.1 D 038

17 1f the coin was tossed 300 times, how many
tails would you expect?
A28 B 150

C 50 D 84

Questions 18 to 20 refer to choosing a lolly at
random from a jar containing 60 coloured lollies:
red, blue, yetlow, green. The chance of choosing
ared lolly is }1 The chance of choosing a yellow

lolly is 4.

18 What is the probability of drawing out a red or

yellow lolly?
{ 1
A3 b1
. 7 5
“1 P

19 What is the probability of drawing out a lolly
that is neither red nor yellow?

3 5
A B3
7 1
‘4‘ D_
LIZ 2
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20 Lara writes down the probability of choosing
a green lolly. Which one of these is a possible
answer?

5 7
Az v
1 11
C - D —
2 60
Part B
8 free-response questions
60 marks

Show working where appropriate.

21 (8 marks) List the sample space of possible

outcomes for each situation:
a the colour of a traffic light

v the number of girls in a 3-child family

¢ the answer to a multiple-choice question
in Part A of this test

d the result of a driving test

22 (6 marks) Use one of the following words to

describe the probability of each event:
certain, even chance, impossible, likely,
unlikely,

a You will send an e-mail today
b You will hiave a Science test this month

¢ You will play a ball sport tomorrow

23 (8 marks) A box contains raffle tickets: 9 red,

5 green, 8 yellow and 6 white tickets. Find as
a simple fraction the probability that the ticket
drawn for first prize is:

a green

b yellow or white

¢ blue

d notred




Topic test 10: Probability continued

24 (10 marks) A die has these numbers on its
faces: (0, 1,3, 4.4, 6.
a Is each number equally likely? Explain
YOUT answer,

b Find the probability of roiling:
ia3

an odd number

i a number greater than |

[~

i
iv anumber that it not prime
25 {6 marks) Write an example of an event that

might have a probability of:
a 100%

b 12%

¢ 80%

26 (4 marks) From the letters of the word
PARRAMATTA, one letter is chosen at
random,

a What is the most likely letter?

b What is the probability that the chosen
letter is an R?

27 (6 marks) The chance of it raining on any
November day is %

a What is the chance of it not raining on a
November day?

b How many days are there in November?

¢ On how many whole days in November
would you expect it to be not raining?

NEW CENTURY MATHS 10: STAGES 5,1/5.2

28 (12 marks) This table shows the results of a
survey on how students travel to school.

Transport Frequency
Walk 8
Bus 21
Car 16
Bike 5

a How many students were surveyed?

b What percentage of students travel by bus?

¢ What is the probability that a student
chosen at random from this survey travels
by bike?

d What is the probability that a student
chosen at random travels by car or bus?

e What is the complementary event to
choosing a student who watks to school?

f If the school has 800 students, how many
would you expect to travel by car?

END OF TEST.
Use the back of this page
for extra working space.

O ©UdsmAstdia By 2005



| Probability

Timge ailowed: 45 minutes
Part A: 20 multiple-choice questions (40 marks)
Part B: 8 free-response questions (60 marks)

Part A -
20 multiple-choice questions
2 marks each: 40 marks
Circle the correct answer.

' 1 Which term best describes the chance of
rolling an even number on a die?

A Tlikely B impossible
C unlikely /A @even chance

2 How many different outcomes are there when
tossing a coin?

Al
/(G2

3 If the probability that it will snow tomorrow is
15%, what is the probability that it will not

snow? y
h @85%

A 0%
C 30% D 45%

B 4
‘D6

4 On this spinner, what is the probability of

spinning a 27
A 33%% =3
g A
5 Onthe above

B 25%
(374

spinner, what is the probability of spinning a
number less than 57 L

D 662%
3

B
2
D3
6 A term that can be used to describe an event
with a probability of 0.75 is:
A impossible
/4 @hkely
C certain
'_ D unlikely

Name:* A’NS Nﬁ“

7 What is the probability that a person chosen at
random has a birthday in a month beginning
with M? :

1

A — B
12

/@% D

8 A meeting rcom contains 1 man, 5 women,
4 boys and 3 girls. What is the probability that
a person chosen at random is a child?
7 13
6 1
C— D=
13 7
9 Iftwo coins are tossed, what is the probability
that both show heads?
1 \/ ;-"’\1
A3 By
1
D=
6

10 What is the probability of rolling 4 on a die?
A 04 “BOS %

C 025 (D0.16

11 Which one of the following could not be the
probability of an event? :

Al AB-1
Co D 0.001

12 ‘The set of all possible outcomes of a situation
is called the: ‘

1
€3

B likelihood
D complementary
event

A experiment
A @ sample space

13 A whole pumber is chosen at random from 1
10 9. What is the probabilify that it is an odd
number?- - . 1S, ST,




Topic test 10: Probability continued

14 What is the probability that the number
- chosen in Question 13 above is a multiple
of 37

4 2 36,
A5 B3

gAY 2

€] Y3

Questions 15 to 17 refer to the following
frequency table that shows the number of heads
and tails that came up when a coin was tossed
repeatedly.

Outcome | Frequency
Heads 72
Tails 28

15 How maiy times was the coin tossed?

/@ 100 B2

C 50 D72

16 What was the relative frequency of tails?

A 05 v(B)0.28

C 0l D 0.38

17 If the coin was tossed 300 times, how many
tails would you expect?

A 28 B 150

C 50 V(D) 84

Questions 18 to 20 refer to choosing a lolty at

random from a jar containing 60 coloured lollies:

red, blue, yeliow, green. The chance of choosing
arted Iolly is 1. The chance of choosing a yellow

loily is 2 5.

18 What is the probability of drawing out ared or

yellow lolly?

i 1 fwl
A B = /4
<

7 3
‘"/©I§ D3

‘t,sl's

19 What is the probability of drawing out a lolly

that is neither red nor yellow?

3 S
Ay ®;
7 i
= DL
C12 . 2
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dlw

20} Lara writes down the probability of choosing

21

22

a green lolly, Which one of these is a possible
answer? .

5 7
A — BE

12 -
I e 11
€3 Qg

PartB
- 8 free-response questions
60 marks
Show working where appropriate.

{8 marks) List the sample space of possible
outcomes for each situation:

a the colour of a traffic light /
’l‘tﬂj\_v} R k@g_,\luf\l“ f ‘\a/@"\-'

b the number of girls in a 3-child family
Mc\)‘w‘\&, O\C&V\S, all By 5/

¢ the answer to a multiple-choice question
in Part A of this test
*, \Q <, O\-f /

d the result of a driving test /

Qw:,bj Pro

(6 marks) Use one of the following words to
describe the probability of each event:
certain, even chance, impossible, likely,
unlikely.

a You will send an e-mail today

k et c,\.f\.c\a's’\_ (.Q,
b You will have a Science test this month

W Lol

¢ You witl play a ball sgort tomo /

gt Cz,
{8 marks) A box contains rafﬂe tickets: 9 red,
5 green, 8 yellow and 6 white tickets. Find as
a simple fraction the probability that the ficket
drawn for first prize is:

a green % /

b yellow or white

o

d notred 17 v
2K

%
L/

a5

¢ biue
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Topic test 10: Probability continued

24 (10 marks) A die has these nunbers on its
faces: 0, 1,3, 4.4, 6.

a Is each number equally likely? Explain
N0 A i Kwr

28 (12 marks) This table shows the results of a
survey on how students travel to school.

OUT ANSWET. : -
3;{&@, 5 *L\N—‘c mtwﬂ ‘H’V.L i Transport Erequency
whole A L _
b Fmd the probablhty (;%roﬂmg fov tha oty Walk 778
tad 2 / nuvaloer s - Bus 91
Q) ‘ Car 16
ii anodd nun{;{aer . / — .

.——-‘ = 3
fii anumber greater than | “

z
x/
iv anumber that ltnotpnme % ;%

25 (6 marks) Write an example of an event that
might have a probability of:
2 100% Tra som WMl @i ot

‘t‘ow\w’uﬂfﬁw /

b 12%  Somamer, WM Ve v‘\?
Cun Su\gni& ?&SW

c 80% Fan Tt wwild bhe §(_Jr\n_J
Lo wra SV

26 (4 marks) From the tetters of the word
PARRAMATTA, one leiter is chosen at
random.

a What is the most likely leiter?

b What is the probability that the chosen

letter is an R7
= LS /

27 (6 marks) The chance of it rainixllg on any
November day is

a What is the chance of it not raining on a
November day? i3
20

b How many days are there in November?
3 =
50/

¢ On how many whole daysin November
 would you expect it to be not raining?

i4-3
1 Juk/\()

M

NEW CENTURY MATHS 10: STAGES 5.1/5.2

a How many students were surveyed?
—550
b. What percentage of students travel by bus?
= Fs 4270
¢ What is the probability that a student
chosen at random from this sur“rey travels

by bike? 5 -
= Su (7]
Fo

d What is the probability that a student
chosen at random travels by car or bus?
37
£O
e What is the complementary event to
choosing a student who walks to school?

e i, o slodind wdha dat s
oot oAl e school \‘L.‘avgld_&v

f If the school has 800 students, how many =%
would you expect to travel by car?

END OF TEST.

Use the back of this page
for extra working space.
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